1-it is an acute phase protein:
A) fibrinogen
B) transferrin
C) albumin
D) transthyretin
2-NFKB functions:
A) while being in the cytosol
B) after translocated to the cytosol
C) stimulates Interleukin 1
D) activates gene transcription
3-Concentration of albumin =
3.4-5 g/100 ml
4-doesn't cause emphysema:
A) SZ
B) MZ
C) FS
D) smoking 
E) presence of methionine-sulfoxide at residue no. 358
5-prevents loss of hemoglobin in urine:
A) ceruloplasmin
B) haptoglobin
C) alpha1- antitrypsin
D) alpha1- fetoprotein
6-if you have the following rxns and their delta G values at standard conditions 
A + B --> C + Pi……….……∆ G⁰ = -43.0
ATP --> ADP + Pi………… ∆ G⁰ = -30.5
The value of ∆ G at standard conditions for the following RXN equals:
A + B + ADP ---> C + ATP
A) -73.5
B) +73.5
C) -12.5
D) +12.5
E) we can't find it out unless we have Keq

7-Concerning oxygen:
A) has a high negative reduction potential , thus easily reduces other substances
B) has a high positive reduction potential , thus easily reduces other substances
C) has a high negative reduction potential , thus easily oxidizes other substances
D) has a high positive reduction potential , thus easily oxidizes other substances
9-Putting an inhibitor of succinate dehydrogenase will cause a decrease in the concentration of:
A) citrate
B) pyruvate
C) isocitrate
D) fumarate
E) acetyl Co-A
10-  1 mole acetyl CoA undergoes citric acid cycle and produce 2 Moles of CO2 , which could be a product of this ?!
A) 1 mole NADH
B) 1 mole FADH2
C) 1 mole oxaloacetate
D) 1 mole citrate
**In addition to previous post :
-All the following b/t step G3-p and 3p except : phosphodpglycerate kinase
-common b/t alcohol and lactate pathway : both reduce NADH
-Ca+2 : activate phosphoeerylase kinase
-phosphorylate and glucagon will inhibit : glycogen synthase
-Enzyme reverse step and give energy : enolase
-Succinate DH deficiency will incerease : succinate
-one of the following is common in both glycogen synthesis and break down : Glucose-1-phosphate
-muscles can't break down glycogen to maintain normal blood sugar because : it lacks Glucose-6-phosphatase
-the common intermediate in using pyruvate and glycerol in gluconeogenesis: Dihydroxyacetone
- Patient with glycogen storage disease characterized by muscle weakness and normal blood lactate hasdeficiency in : 
Glycogen phosphorylase
- Arsenic is an inhibitor that can bind to Lipoate which on the following will be affected : 
α ketoglutarate and pyruvate dehydrogenase complexes
- One of the following can't be used as a substrate for gluconeogenesis : 
Acetyl-CoA
-the reactions of converting Glyceraldehyde-3-phosphate to 3-Phosphoglycerate involves all the following except : 
Oxidation of NADH To NAD+


